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1. In managing pain in elderly patients, which analgesic is generally preferred due to its

favorable side effect profile?

A. Opioids

B. Nonsteroidal anti-inflammatory drugs (NSAIDs)

C. Acetaminophen

D. Muscle relaxants

Answer: C. Acetaminophen

2. What role does moisture play in the development of pressure ulcers?
A. Tt reduces the risk of pressure ulcers.

B. It promotes skin hydration and elasticity.

C. It increases the risk of skin breakdown and maceration.

D. It has no impact on pressure ulcers.

Answer: C. It increases the risk of skin breakdown and maceration.

3. A 90-year-old patient comes to the clinic with a family member. During the health history

the patient is unable to respond to questions in a logical manner. Physician should:
A. Ask the family member to answer the questions

B. Ask the same questions in a louder and lower voice

C. Determine if the patient knows the name of the current president

D. Rephrase the questions slightly, and slowly repeat them in a lower voice
Answer: D. Rephrase the questions slightly, and slowly repeat them in a lower voice

4. Which of the following is more ominous finding suggestive of Alzheimer disease (vs

delirium)
A. Misplacing one’s car keys

B. Forgetting names of casual acquaintances



C. Forgetting one’s address
D. Forgetting appointments
Answer: C. forgetting one’s address

5. A 78-year-old woman with a history of hypertension and diabetes presents with recurrent
falls. On examination, she has an abnormal postural blood pressure drop of more than 20

mmHg. What is the most likely diagnosis?
A. Orthostatic hypotension

B. Normal pressure hydrocephalus

C. Syncope

D. Peripheral neuropathy

Answer: A. Orthostatic hypotension

6. Which medication class is associated with an increased risk of orthostatic hypotension in
the elderly?

A. Beta-blockers

B. Diuretics

C. Calcium channel blockers

D. Angiotensin-converting enzyme (ACE) inhibitors

Answer: B. Diuretics

7. In older adults, what is a common contributing factor to urinary incontinence?
A. Decreased bladder capacity

B. Increased sphincter tone

C. Pelvic floor weakness

D. Enhanced detrusor contraction

Answer: C. Pelvic floor weakness

8. What is the most common type of anemia in the elderly population?

A. Tron-deficiency anemia



B. Vitamin B12 deficiency anemia

C. Anemia of chronic disease

D. Aplastic anemia

Answer: C. Anemia of chronic disease

9. Which of the following is a common complication of prolonged immobility in the elderly

that can contribute to the development of pressure ulcers?
A. Osteoporosis

B. Contractures

C. Rheumatoid arthritis

D. Chronic obstructive pulmonary disease (COPD)
Answer: B. Contractures

10. An 80-year-old patient presents with acute confusion, fever, and dysuria. What is the most

likely diagnosis?

A. Alzheimer's disease exacerbation
B. Delirium

C. Normal aging process

D. Vascular dementia progression

Answer: B. Delirium
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1. Kakoi1 aHanpreTuxk IIpeAIno4YTHUTe/IbHEE JIA 00e360IMBaHNA Y HDOXMJIbIX IMAIIFI€HTOB M3-3d

€r0 OTHOCUTEJIBFHO 0e301acHOTOo mpoduiis M060uHbIX 53 deKTOoB?

A. Ommon st

B. ITpoTuBoBOCHIaIuTe IbHbIE TIpenapaTsl HecTepouzHoro mpoucxoxaenus (NSAIDs)
C. Aueramnuaoden

D. MuopenakcaHTbI

Orsert: C. Anieramnnaoden

2. Kakyto posib UTpaeT Bjara B pa3BUTHU IIPOJIeXKHEeH?

A. OHa cHIXaeT PHUCK IPOJIeKHEeH.

B. Ona croco6cTByeT yBIOKHEHUIO U YIPYTOCTH KOXHU.

C. Ona yBennuuBaeT pUCK paspylIeHUs KOXHU U Mallepaliu.

D. Ona He BiufeT Ha IPOJIEKHMU.



Orset: C. OHa yBeIMYMBaeT PUCK Pa3pylIeHUI KOXHU U Mallepaluu.

3. 90-7eTHHIT MaUMeHT IPUXOAUT B KIWHHUKY C YIEHOM ceMbU. Bo BpeMms cOopa aHamHesa

IaIMeHT He MOXXeT IOTMYHO OTBeYaTh Ha BOIIPOCHL. Bpau mosmkeH:

A. TlompocuTs ueHa ceMbU OTBETUTH Ha BOIIPOCHL.

B. 3azats Te e BOIIPOCHI TPOMKUM M HU3KHM T'OJIOCOM.

C. Onpemenuts, 3HaeT JIM MALMEHT UM HBIHEIIHETO IIPe3ueHTa.

D. Crnerka nmepedopMyIHpOBaTh BOIIPOCH! M Me/IJIEHHO IIOBTOPUTH UX HU3KUM T'OJIOCOM.

Ortser: D. Cirerka nepedopMy1mpoBaTh BOIIPOCH! ¥ Me/IJIEHHO IIOBTOPUTH UX HU3KIM I'OJIOCOM.

4. Yro m3 mepednCIeHHOTO fABJIAeTCA Oojiee XapaKTepHBIM IIPH3HAKOM, YKa3bIBAIOUIMM Ha

6ose3ns Abrreiimepa’

A. TloTepss aBTOMOOMIBHBIX KITIOUEH

B. 3a6GriBaHue MMeH CTyJaiHBIX 3HAKOMBIX
C. 3absIBaHMe CBOETO afipeca

D. 3a6s1BaHre 0 Ha3HAaUYEHHBIX BCTpeYax

Orset: C. 3a6GpIBaHue CBOETO afpeca

5. 78-neTHAA >KeHIIWHA C aHAMHE30M THUIIEPTOHMHU M JAuabera IpelbABIAET KaJ00BI Ha
noBropAIomMecs nageHus. IIlpm obcremoBaHmum y Hee OOHApYXXMBaeTCA aHOMAJIBHOE
CHIDKEHMe apTepHaJIbHOTO JABJIeHUs B ITOJIOXeHUH cros 6osee uem Ha 20 MM pr. cr. Kakos

HanboJiee BePOATHBINA AUarHO3?

A. OprocTratuyeckas rUIOTeH3UA

B. 'mppouedanusa ¢ HOpMaIbHBIM JaBIeHUEM
C. O6mopox

D. Ilepudepuyeckas HeitponaTus



Orset: A. OprocTaTnyeckas THIIOTeH3UA

6. Kaxoif kiacc MeuKaMeHTOB acCOI[MHUPYETCSA C IOBBIIMIEHHBIM PHUCKOM OPTOCTAaTHYEeCKOU

TUIIOTEH3UH y TTOXKUJIBIX JIIOfei?

A. Beta-610KaTopsI

B. uypetuxu

C. bioxarops! KaJIbpleBbIX KAaHAJIOB

D. Nurubutops! aurnoTeH3nH-1pespauaoouero pepmenta (ACE)

Orser: B. Ilnypernku

7. Uro aBmgerca 4YacThIM (aKTOPOM, CIHOCOOCTBYIOIIMM HeJep>KaHWI0O MOYHM Y IOXKHUJIBIX

Trome?

A. YMeHbIIeHUEe eMKOCTH MOYEBOTO ITy3BIPs
B. YBesnuenue Tonyca chuHKTEpa

C. CmabocTh Ta30BOTO ITHA

D. YcuneHnHOe cokpaleHHe JeTpy30pa

Ortsert: C. C1abocTh Ta30BOTO JHA

8. Kaxkoii Tun anemuu HanboJsiee pacIIpOCTPaHeH Y IOXKUIIBIX JIIOe?
A. KenesomedururHas aHeMus

B. Auemus us-3a medunura ButamuHa B12

C. Anemus XpoHHYeCKOTo 320601eBaHUS

D. Amractuyeckas aHeMus

Ortser: C. AHeMHSA XpOHUYECKOTO 3a00/IeBaHUA



9. Kaxoe u3 cienyomux ABaseTcs 0OmIM OCI0KHEeHUEeM IIPOAOJDKUTEIbHOM HeTTOABIDKHOCTH

y TOXWJIBIX JTIOZEeH, CIOCOOCTBYIOIIMM Pa3BUTHIO IIPOJIXKHEH?
A. Octeomnopos

B. KonTpakTyps!

C. PeBmaToupHBIH apTpUT

D. Xponuueckas 06CTpyKTUBHAs 6OJI€3HD JIETKUX

Orsert: B. KonTpakTtyps!

10. ¥V 6omprOrO 80 yET ocTpo pasBHIIACH 3aTYMaHEHHOCTh CO3HAHHWA, JIMXOPAZAKa, AU3YPHUA.

Kaxkoit HanGoree BepOATHBIN AUarHO3?

A. Obocrperue 6oye3HH AnbLreiiMepa

B. Menupuii

C. HopmasHBIi ITpoliecc cTapeHust

D. IIporpeccupoBaHue COCYyIUCTOM JeMeHIIUH.

Orser: B. lenupuit



